
a)
(a+b+c+d+e+f+g)/7-(a+b+c+d+e)/5=1/25
X/7-Y/5=1/25
(5X-7Y)/35=1/25
5X-7Y=7/5
целое=дробное

b)
X/7-Y/5=1/25
(5X-7Y)/35=1/35
5X-7Y=1
(1+2+7+4+8+0+9)/9+
-(1+2+7+4+8)/5=(5*31-7*22)/35=
=1/35

в)
x- наименьшее
z- наибольшее
y- сумма остальных
(x+y+z)/7-y/5=
=(5(x+y+z)-7y)/35=
=(5x-2y+5z)/35
y>=(x+1)+(x+2)+(x+3)+(x+4)+(x+5)
-2y<=-2((x+1)+(x+2)+(x+3)+(x+4)+(x+5))
(5x-2y+5z)/35<=(5x-2((x+1)+(x+2)+(x+3)+(x+4)+(x+5))
+5z)/35=
=(5z-30-5x)/35<=(5*12-30-5*0)/35=
=30/35=6/7
(0+12+1+2+3+4+5)/7-(1+2+3+4+5)/5=6/7


